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Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.

Answer any seven out of ten.

State the objectives of cutting process.

Define the term “Marker efficiency”.

Define the term “seam” and “stitch”.

List the name of different types of stitches.

What is lapped seam?

What is Die cutting?

Write the function of Pressure foot and Feed dog.
List the types of sewing machine work aids.
Write the function of throat plate and needle.

Differentiate between Needle feed and puller feed system.

What is seam Elasticity?

OR
State the importance of marker planning.
Why spreading process is required?

OR

Write the importance of grading process.

Explain superimposed seam.
OR
List the important factors for the selection of fabrics for garment.
Explain round knife cutter.
OR
Explain any one simple automatic machine.

State the objects of sewing process.

OR
Differentiate between interlooping and interlacing.
List the methods of marker planning.

OR
What is pucker?
Explain spreading using travelling machine.

OR
Explain straight knife cutter.
Explain Bound seam.

OR
Write the advantages of CAD/CAM.

Draw the neat sketch of basic sewing machine and label the parts name.
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OR
Explain requirement of marker planning.
Explain any two types of stitches.

Explain any two types of feed mechanism.

Write short note on sewing defects.
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